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But cating a rope is unusual — R 73R Dan R

OVERVIEW

The X7n3 cited the Xn*12 of %2ama Puvnn PAY 7PN to prove that XIP°Yn N2
79IR." The X7»3 responded that he is 21 a w"1 for the %an (which they were
pecking at), but not (necessarily) for the *>7. The X 13 asked; why is he 2 a w"2
for the 9am, since it is unusual for the 721270 to be %2n2 vunn, for it is not edible
(he should only pay a 1"m)? It seems from the X723 that if we would maintain 202
121X XP°yn (and he pays a w"1 for the °27), it would be understood; however even
if 721X XIP°Yn N3, since it is WA to be 22n2 vvnn, he should still pay only a 1"n
for the *57?! Our MoOIN resolves this issue.

= 91929 )W $19) DaNa NNPIND NIIN INP YIIN IN NnHHva
It would be properly understood, if the payment of the w"1 refers to the "7, for

then we could establish this Xn>72 by an old rotten inferior rope -
- ’5anay 00N NISNY PLLVNNY NVYIN NVIVNHI PO NIN NINIINY

Where it is usual for it to be torn with (even) a slight pecking, which the

chickens peck, in order to suck out some water which is absorbed by the rope -
- ‘oy5un na N9YWT PHIn Hana 299N TH99 HY YaNK NPT RNYWH YaN

However now that we are saying that the payment of a w"1 is referring to the
rope; perforce we must say that we are discussing a strong rope, where
payment is applicable.

mooIn offers an alternate explanation why it is understood if the w"1 refers to the *77:
19313 NUP S9TA 73 NONIY SAWDN TMAVY 1390 PDANT WY 19981 IND Y9N IN 913 IN
Or you may also say; if the w"1 payment refers to the "»7; we can possibly

" That would explain why he is 2»11 a w"1 for the *7 even though the >0 were 1vvma in the %an and were not
touching the 97.
* The pail was attached to an inferior worn out rope (which was wet from the well water), the chickens wanted to
suck out the water from the rope (which is a normal case of 1w), which tore immediately and the pail broke as a
result. Therefore he pays a w"1 for the *27 because this is a case of 17 and we go Xp°¥» n2.
? There is (almost) no value to speak of by an old worn out inferior rope (less than a 5"w). See ‘Thinking it over’ #
1.
* For the chickens to tear a strong rope it is certainly 7nwn and he should pay only a 1"n.
> We will again assume that the chickens were pecking the rope in order to suck out the water (see “Thinking it over’
#2), and with a little pecking the knot became untied, so it is not i17wn. However if they have to pay for the rope, we
cannot interpret 091 to mean untied (for there would be no damage done), but rather it must means that it actually
tore, and tearing a rope requires much pecking and is considered 1wn.
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interpret that pop1 means that the knot, with which the pail was tied to the
string, became untied.

SUMMARY
It is not 1wn for chickens to peck on a string (to suck out its absorbed water) and
either tearing it (if it is worn) or untying it.

THINKING IT OVER

1. Mmoo explains that initially we assumed that he pays only for the *%7 and not for
the “am (since it is "1 y1).° Why then does that Xn°>12 mention am poai (if there
is no payment for the 22n), it should have merely stated 92an2 pPovnn PO PN
577 Nawn 572!

2. In moon second answer is it necessary to assume that they were pecking for
water,” or can we say they were just pecking and the rope became untied?

® See footnote # 3.
7 See 2°°1 NN and TMPNT WNEN XX # 55.
8 See footnote # 5. See HXIMW NINON.
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